

$$(1+4\alpha)(1+\alpha)(1+\alpha)(1+\alpha)(1+\alpha) = 20625 \boxed{F}$$

$$\sqrt{(1+\sqrt{r})^{-1}(1+\sqrt{r})^r} = \sqrt{\frac{1+\sqrt{r}}{1-\sqrt{r}}} = \sqrt{r} \quad (Q1 - 1)$$

$$\frac{\sqrt{r}}{r} \left(\sqrt{r-\sqrt{r}} - \sqrt{r+\sqrt{r}} \right) = \frac{\sqrt{r-\sqrt{r}} - \sqrt{r+\sqrt{r}}}{r} = \frac{\sqrt{(1-\sqrt{r})^2} - \sqrt{(1+\sqrt{r})^2}}{r} = \frac{|1-\sqrt{r}| - |1+\sqrt{r}|}{r} = \frac{\sqrt{r}-1-1-\sqrt{r}}{r} = \boxed{-2} \quad (Q1 - 2)$$

$$\frac{(\sqrt{r}+\sqrt{r})(\sqrt{r}-\sqrt{r})}{(\sqrt{r}-\sqrt{r})} = \frac{r(\sqrt{r}+1)}{r} = \sqrt{r} + \sqrt{r} - \sqrt{r} - 1 = \boxed{\sqrt{r}-1} \quad (Q1 - 3)$$

$$\frac{(\sqrt{r}-1)(\sqrt{r}+\sqrt{r})}{\sqrt{r}-\sqrt{r}} = \frac{\sqrt{r}+\sqrt{r}}{1} = \sqrt{r}-1 + \sqrt{r} + \sqrt{r} = \boxed{\sqrt{r}+\sqrt{r}-1} \quad (Q1 - 4)$$

$$\frac{\sqrt{r-\sqrt{r}}}{\sqrt{r+\sqrt{r}}} = \frac{\sqrt{r-\sqrt{r}}}{\sqrt{r+\sqrt{r}}} \cdot \frac{\sqrt{r+\sqrt{r}}}{\sqrt{r+\sqrt{r}}} = \frac{r(\sqrt{r-\sqrt{r}})(\sqrt{r+\sqrt{r}})}{r} = r = \sqrt{r}(\sqrt{r-\sqrt{r}}) - \sqrt{r} = \sqrt{r} + r - r = \boxed{\sqrt{r}} \quad (Q1 - 5)$$

$$\frac{\sqrt{r^2} \cdot \sqrt{r^2} \cdot \sqrt{r^2}}{\sqrt{r^2} + \sqrt{r^2} + \sqrt{r^2} + \sqrt{r^2}} = \frac{r^2 \sqrt{r^2}}{r^2 + r^2 + r^2 + r^2} = \frac{r^2 \sqrt{r^2}}{4r^2} = \frac{r^2 \cdot r}{4r^2} = \frac{r^3}{4r^2} = \boxed{\frac{r}{4}} \quad (Q1 - 6)$$

$$\frac{e^{\alpha}(1+r+r^2)}{r^{\alpha}(1+r+r^2)} = \frac{e^{\alpha} \left(\frac{e^{\alpha}-1}{r} \right)}{r^{\alpha} (r^{\alpha}-1)} = \frac{e^{\alpha} (e^{\alpha}-1)}{r^{\alpha} (e^{\alpha}-1)} = 1 \quad \text{but } \frac{r^{\alpha} (e^{\alpha}-1)}{r^{\alpha} (e^{\alpha}-1)} \neq 1 \quad (Q1 - 7)$$

$$\boxed{X \neq Y}$$

$$(a^r + b^r + ab)^r (a^r + b^r - ab)^r = (r - \sqrt{c})$$

$$\Rightarrow ((a^r + b^r) - ab)^r + ((a^r + b^r) + ab)^r = (r - \sqrt{c})$$

$$= (r^2 + 2ab + \sqrt{4ab^2 + 4a^2b^2} - ab)^r + (r^2 + 2ab + \sqrt{4ab^2 + 4a^2b^2} + ab)^r = (r - \sqrt{c})$$

$$\Rightarrow r^2 + 2ab + \sqrt{4ab^2 + 4a^2b^2} - ab = (r - \sqrt{c})$$

$$\Rightarrow r^2 + 2ab + \sqrt{c} = (r - \sqrt{c})$$

$$\Rightarrow 14(r - \sqrt{c}) = \sqrt{c} \Rightarrow \boxed{\sqrt{c} = 14}$$

$$((ar\frac{1}{a})^r - 1)^r = r^2 \Rightarrow (a^r - \frac{1}{a^r} + r - 1)^r = r^2 \Rightarrow a^r - \frac{1}{a^r} + r - 1 = r^2$$

$$\Rightarrow r - \sqrt{c} + \frac{1}{r - \sqrt{c}} + r = r - \sqrt{c} + \frac{r + \sqrt{c}}{r - \sqrt{c}} + r = 14 + r^2 \Rightarrow \boxed{\sqrt{c} = 14}$$

$$a = \sqrt{r^2(r^2)} \quad (r^2)^{-\frac{1}{r^2}} = \sqrt{r^2} \cdot \sqrt{r^2} \cdot \sqrt{r^2} = r^2 \cdot r^2 \cdot r^2$$

$$\Rightarrow (r^2)^{-\frac{1}{r^2}} = (r^2)^{-\frac{1}{r^2}} = r^{-1} = \boxed{r}$$

$$\sqrt{a} = \sqrt{a^{\frac{10}{r^2} \cdot r^2}} = a^{\frac{10}{r^2} \cdot r^2} = a^{\frac{10}{r^2} \cdot r^2} = a^{-1} = a^{-1} \cdot r^2 = a^{-1} \cdot \sqrt{r^2}$$

$$\Rightarrow \frac{\sqrt{r^2} - \sqrt{c}}{\sqrt{c} + 1} = \frac{r(\sqrt{c} - 1)}{\sqrt{c} + 1} = \frac{r(\sqrt{c} - 1)^2}{r} = \frac{r(r - \sqrt{c})}{r} = \boxed{r - \sqrt{c}}$$

$$\underbrace{(\sqrt{r^2 - \sqrt{r^2 - c}})(\sqrt{r^2 + \sqrt{r^2 - c}})}_r = r^2 - c = r^2 - \frac{c}{r^2} = r^2 - \frac{14^2}{r^2} = r^2 - \frac{196}{r^2}$$

$$\Rightarrow \sqrt{r^2 - \sqrt{r^2 - c}} = r - \frac{14}{r} = \boxed{r - \frac{14}{r}}$$